5.  Write the number thirty thousand, two hundred and
ninety seven in figures.
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10. Add the smallest of the following numbers to the largest:

0860 - o, 0.028

[.238+0.012
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15. A box contains 48 pieces of fruit. Five eighths of them are
_the rest of them are pears. How many pears are there?
gx‘%x« SO QppIkS

% 3o+ (g

Answer: | B

16. Use the symbols +, -, +, or X to make each calculation correct.
L SF|3= 1254
i. 2P]3 = 12[3]2
iii. 5[5 = 4514
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%
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A A/
< a) Circle the shape that you would :eefyﬂmm : :
(from the front). £
3! 5. .
b) Circle the shape that you would see if you were looking at it from B
(from the right hand side). .
\ e BE sl
| H H
b) Circle the shape that you would see if you were looking at it from C, ) |

(from above). e

A EEB:D [IEP:D

1=}
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22.

A rectangle has an md'do'cn‘:v Its length is 1 1cm m

; #a 3
P g 0.2? R B
%v,g Y gyl \ "
B |
w 1 QigRbrg !
90 c X :qGO o 1 2 o
c 3 . W A
G X7y Angwers S35 oo
g ket S s
thy= ¢ £ e A
W24t goso | (G tiysisie %tb—g, A -
23. Here are four cards which you can use to make numbers:
kS
1 2 D D .—" .
% Write down all the possible 4-digit even numbers you can make which are Ny,
LU;I greater than 3000. Write your answers from smallest to biggest. 4z
b o [(f <0d> 1N FIIVX2XIXT 22 Woys g
/n Woemas N 2 2x2 xix =T oy s Ao,

8 WOMS toiay

oLy J&te 512, 4132 4213
\ RN - ?

N N

| r S' af q:‘
My sy

\J 34;;43 L"‘"’ "y musd
B T T Y +

3124 3142, 21T, T4l 1132, %312
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Below is a

Canyou find it?
s

2:1
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2 R AN
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27. The Jones children take their dogs for a walk.
There are 3 times as many dogs as children.
The total number of legs is 56. How many Jones children are there? '
(3 €= Nump® Thildren ,

D= 3¢ e hove 2 IRqs

Dogs hove 1 |zgs

2

21-?; lf;—; 5 311(9
4

Answer:i
\/vhhaw O[C,ebr(__\_
S-TC:“L 5D <,<; 400 5
Bes 4o b® 32 [eqs for childrmn
¥ Chi\d(‘er\:‘ + jeq RC -+ €5 --\~/

A

U+ 13 St 3 x2
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By 30. anmmenmm\z,s\gmthmmmhmm
following rules: 4 F1m) ONy CFIO
;ay_
~$'
a) All 3 numbers in the triangle are even figes

W

b) The total of the 4 numbers on the square 822,
c) The total of numbers on the left hand edge of the .
square is equal to the total of numbers on the right

hand edge. ; . \

d) The number in the bottom left hand corner of the
square is greater than the number in the bottom
_ right hand corner.

| Mk Al Sec ahe B | 'y
31. Use the fact that 742 x 36 = 26712 to work out these sums:

T42%360 = 26 7| Syl 3
WTIA*36 =42 ‘)—glii7+g
P o MIxTE =9 3F2% Double 2 75
e o > Mixl =—=67+Z Qdd 3¢

BRe UF O 2) 10 be diwaed b /
PRras 10 Minus 1
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34. Onmmnmnmemv-m-qmmdw?
using the symbol @. =k

3 © 4 means add 3 m4mmmmﬂnm¢9-‘¢--
s0304=3+4+(3%x4)=19

§,

(a) Find the value of 5@ 7
S Oaq 12+55
i Answer: 7 5
‘:f\@ N O or 5, (b)flidngalueonO—
&’W"TS; Snonly thy in 9}*5'
bi_ b\, § RNJs |In FORBE, i

(c) If x © 2 = 23, what number is x ?
B o P Gy S8 < P

- OFf 2 Bhtrn Siviges by 3 k. O8N
n six lines. K€ TP 98ing 8% Aol

(d) If n © n = 99, what number is n?
RO = 19
20T CW -o

L1y Q)m"“t o iy

35. Abatatel 050 mosquitoes in four nights.
Each night she ate 25 more than the night before.
How many did she eat on the first night?

F % 4(s 26y (X 50)4 (24 T3) = 1050

X+ 150 = 1050

T = B 0 >
xT2085

Answer: < < - TR
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37. Ten girls live in ten different houses. ol

Thzboxuonthcdiammrqxumﬂ:zﬁth'ho;ﬁ. :
The lines joining the houses show that the two girls from these houses have
met. i

irls that have met are: R
Fiona mﬁm @Hiba '”‘Hh ‘7‘7‘)10, ,

and Bella and TUS-\U\ 5
and Justyna and Alisony Ir\ L -3

% «J Ug«loqr\
o

D

j
H

Put the first letter of the girl’s name in the correct house.

o

{) . 4
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sweet is in the shape of a cube. I :
wumh’“ gTam %
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il O >
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(3)23( >11 2
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41 e Y
@ Pts = Answer[é_:

Y+2 (w
Qans ‘
B0 pis- u+lo+p ‘x 1Y e | Other Vo
S-lq{Ll C‘ ‘.\'\‘i"\4‘¥.\7
Use &) s s of i know Ro ‘\\ A
For / q'{‘ C _X x . -

)

41. On the island of Mathia the people use patterns instead of numbers like am‘
ours. ) WC)
Hﬂenmeﬁmmmmbm. a

+@= Duag.-.\_l ——
Yereq . !
“0?5@-‘-@—;151» +B®D(‘? Ytp
X.''s P S -
%‘\SMED"'@: @@ Prs=uyta

Now mswerthnequauons(Eacha.nswermone umbu). R’\P\O«,\

Yo BN 9 tare oy - S TR
E knog,
Beormange G) m-m >

= e = ox

fy
5o ldent X+p o
B =N+ E ceel
: Oﬂ\\(r v vy S‘“
Xt 2= y4p (Want Xp o0 elim W :

> i - Answer:

SO LW O ’rL\

o N+K) =

J:L;U(
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